Frov—1 7

elo Lucing

Made in Japan

ENGINE SLIDERS + SUSPENSION SUPPORT
DUCATI 959/ 1199/ 1299 Panigale (part# D-1199ES2)

[L]

SOCKET HEAD M8x60mm [SBT-M860]

COLLAR 38Z-8

[CLR-38Z-8] SUSPENSION SUPPORT PLATE (GD)

[D-1199ES-SSPTE]

COLLAR 10Z-8 [CLR-10Z-8]

COLLAR 16-8

[CLR-16-8] SOCKET HEAD M8x55mm [SBT-M855]

SPLIT WASHER M10 [SwsS-10]
SOCKET HEAD M10x70mm [SBT-M1070]

SOCKET HEAD M6x35mm
[SBT-M635]

COLLAR 40-10 (BK)
[CLR-40-10V]

SLIDER PUCK REV-L
[SDR-REV-L]

SET SCREW M6x6
[SSCW-M8]
SLIDER BASE [L]
[SDRB-D-1199L]
SOCKET HEAD M6x30mm  SLIDER BASE M10 GOLD
[SBT-M630] [SDRBG-10]

[R] SOCKET HEAD M5x10mm
[SBT-M510]
SPACER NUT M5 [SNUT-5]

SOCKET HEAD M6x30mm

[SBT-M630] SPACER BOLT M8-M12 [FSBT-M8-M12]

SLIDER PUCK REV-M
[SDR-REV-M]

SLIDER BASE [R] - INNER
[SDRB-D1199R1]

SOCKET HEAD M6x70mm
[SBT-M670]

COLLAR 40-6 [CLR-40-6]

SLIDER BASE M8 GOLD
[SDRBG-8]

SET SCREW M6x6
[SSCW-M6]

SOCKET HEAD M8x40mm

SLIDER BASE [R] - OUTER
[SDRB-D1199R2]

[SBT-M840] SOCKET HEAD M6x30mm
SPLIT WASHER M8 [SBT-M630]
[SWS-8]

satoracing.com



